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CHEMISTRY
( General )

Full Marks : 40

Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5
woTe faeaRs foe Sepifk e ford

(a) Arrange the following ions in the
decreasing order of size :

oS il SR SR W SeeTe
s -

02—, Mg2+, N—3 Als'l-

(p) What do you mean by limiting molar
conductance?

Shf¥e a9 “iftfZer e R g@ 2
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(2)

() Ammonia solution of alkali metal is blue
in colour, why?

R qrgd @R 77 339 59 e =g 2
(d) What is meant by catenation?
e3feresq e 6 @2

(e) Banana bond in diborane is bond.
( Fill in the blank )

TR AT @A ACAA W A |
(AR 9 QT FM)

2. (a) Give the structure of the following xenon
compounds. Also indicate the type of
hybridization of xenon in each of the
compounds. Why has XeO; pyramidal
structure? 3+2=5

oo fal o CQAPTYRT o8 T 0 | TS
QPRS AP (T 5] Sl Sy 90!

r.

Xe0,3 WFfe 7 Prfch =2
XeF,, XeFgz, XeOF,
Or / 91

(b) What are carbides? Give one method
to prepare graphite intercalation
compound, silicon carbide and nickel
carbide. 2+3=5

TRET 2 D ARRE @, B IS
O ficee TG GEIIOE oF Aq@l fe |
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(3)

3. Answer any two of the following : SX2;10
weTe AR R @il 1o Ter forg
(@) (i Explain with reasons : 1x2=2
FRT AR W A

1. At room temperature, H,0 is
liquid but H,S is gas. _
Mg Twere H,yO Gaml SF H,S
= 1

2. Oxygen exists as O, while
sulphur exists as Sg.

e &S (xr 0, Ao
e RS 2z Sg.

(i) Write short notes on : 1%2x2=3
Y (B fora

1. Borazine

R

2. Silicones

fefere’s

(b} (i) Discuss the structure and bonding
of diborane. 3

SRR E N SIF I RA@ S
41|
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(4)

(i) Write down the names of the
following complexes by IUPAC
system : Yax4=2
were iyl wibd (MRS AW IUPAC
ﬂﬁl\gwﬁ'ﬂ:

1. [CoN3(NH3)5]SO4
2. Ba[BrF,],
4. Li[AlH,4]
{c) What is electronegativity? What are the
factors which affect the electronegativity
of an element? Discuss the trend of
electronegativity among the elements in
a period and in a group. 1+2+2=5
Ryezoer 2 & & I@e A& GOR
RcAOR ¢f[F® doR CFE? 9eIbl
I Inr fe AP Rgeede s
et 2, SICEDAl 41 |
4. Answer any two of the following : 5x2=10
wore A R @ Yo Seq o

(a) Name two important ores of Ni. How is Ni

20A/78

extracted from its important ore? Give
two properties of Ni. 1+3+1=5
e 701 43 SRRE A B | 3 e

o]l el (eAlE EPm T = 2 e o

gof TeEy B0
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(6)

5. Answer any two of the following : 5x2=10
e e R @ {orR Ted e

(a) (i) Discuss the determination of
transport number of NOj3 ion in

AgNOj by Hittorf’s method. 3
353 1afe@ AgNO;® NO3 W«
2T AT oS S +4 |

(i) How would you account for the
highest mobility of H' ions? 2
H* SRR S e S 6 2

(b) Discuss conductometric titration for—
(i) strong acid with a strong base;

(i) weak acid with a strong base.
2%+2Y2=5

ARIEORE SR SCETO F—
() R wFF S FEF A;
(i) T TS O HEET A |

(c) () X, for NaOH, NaCl and BaCl,
are 248-1x10™* Sm? mol ™!,
126-5x10™* Sm? mol ! and
280-0x10™ Sm? mol™! respectively.
Calculate A, for Ba(OH),. 2
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(7)

NaOH, NaCl ®®& BaCl,3 A,
T W 2481x107% Sm? mol 7!,
126:5x10™* Sm? mol ! I
280-0x10~* Sm? mol ! EYC]
Ba (OH),3 A,, 3 T S+ 1 |

(1) Discuss the construction and the
use of a glass electrode. 3
IB IER T O W TR TS
S T | |

¥* % &
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(7)

NaOH, NaCl W& BaCl,3 A,
T &N 2481x10°*Sm? mol !,
126-5x10™* Sm? mol ™! uE
280:0x10™* Sm 2 mol ! £y
Ba (OH),3 A,, 3 T 5 <1 |

() Discuss the construction and the
use of a glass electrode. 3

wwwmwmvw
A 341 |
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